(B) Tmmafyes
' 1 %7 A qafare e A 7
(A) ey (B) ¥

(C) A (D) weh

Choose the appropriate articles and

complete the sentence :
| have black and white dog.

(A) a,a (B) a,an
(C) an, the (D) the, the
Choose the correct synonym of the
given word :

Intention
(A) Choice (B) Aim
(C) Casual (D) Determination

Choose the word which is most
opposite to the given word :
Antique
(A) New (B) Aged
(C) Traditional (D) Historic

Choose the correctly spelt word from
the following :

(A) Currupt (B) Corropt

(C) Coruppt (D) Corrupt

Being well qualified, he has good _____
in the profession.

(Choose the correct option to fill in the
blank)

(A) prospects
(C) perspectives

(B) prospectus
(D) prospectives

' ﬁ_
c
K

12.

13.

14,

15.

16.

-0t

i tween Indian Standard
H’rﬁ: ::fé"é?@ﬁ.?\iich Mean Time is
(A) 5% hours (8) B hours
(€) 7 hours (D) 9 hours
yrtg AR wHA (IST) UE afas aren
H94 (GMT) & A 38
(A) 5% HEI (B) 8% &
(c) 7= (D) 9w =

in which of the following districts of
Haryana, red chestnut soll is found ?

A) Rohtak B) Sirsa
C) Yamunanagar (D) None of these

o o Freftea 1 | e 1w
TR T IR 7
(A) Ugaw (B) faam

(C) TR (D) T & HrE T
Koyana project supplies electricity to a
number of big cities which include

(A) Ahmedabad and Surat

(B) Pune and Mumbai
(C) Panipat and Sonipat

(D) Chennaiand Bengaluru
A aiEeE arrgfda
WEA AT E e

(A) 3TEwemEIE & (8) ot e

(C) 9Hia 3% grea (D) %@%
The name of Gautam Buddha’s mother was
(A) Mahadevi (B) Mahamaya

w3

(C) Mayawati (D) Devmaya
g =1 O 1 AW o

(A) TETee (B) wETEN

(C) wramEH (D) C=mm

The Italian traveller who left a very
praiseworthy  account of the
Vijaynagar empire was

(A) TomesPires (B} Nicolo Conti

(C) Marco Polo D) Barbosa
GG El fosR T
1 3= NI o fean o

(A) Tmafear () FeRi®Rd
(C) WHidE (D) EWEN

The first passenger train in India was
opened under the Governor Generalship of
(A) Lord Cornwallis{B) Lord Bgntinck
(C) Lord Dalhousie [1) Lord Rippon
mﬁmtrz_‘jrrgzﬁ T S
% Fe ° IE ((—

(A) @TE wraried  (B) mﬁk\;&?
(c) @i sest (D) GIE

0421



17. To encourage investment in the

country, RBI may
(A) Take International Loan

B) Reduce CRR
C) Increase CRR

D) Increase bank rate
O T

.t .
(A) 3TeigTa vl & |

(B) #t 3T 3T A HT Feharl 2 |
(C) # T 3T =1 Hehal & |
(D) &% e T Hhal & |
18. Which of the following are considered
as factors of production ?

AR IR FAATAACE 7
1. Machinery/
LM e

% foe

2. Consumer Gpods /

3. land Natural Gifts /
Y- W1 &

4, Llabour/
e

f

5, Risk taking Industrialists /
gl Ianmafa

(A) 1,3,4,5 (8) 1,3
(C) 1,4.5 (D) 2,4,5
19. Who was the first Chairman of the
Planning Commission (Now NITI Aayog) ?
(A) Pt.Jawaharlal Nehru
(B) Dr. Rajendra Prasad
(C) Sardar Vallabhbhai Patel
(D) None of these

AQrs1 AT (379 Hifa IET) & wem
HAIH R Y ?

(A) 9. STETETETE TE®

(B) ST, Ui wHTg

(C) TGR TEETHHIS Ueel

(D) ¥ & HIE TE

In India, treasury bills and dated
securities are issued by

(A) State Government

(B) RBI

(C) Cen;rach}vgrnme:t

(D) Ministry of Finance 2
WRd d femifira wfengfed
T 61 STl &
(A) T=T TR g
(B) 3.3, g1
(C) 7 TG
(D) fert HATE G

21,

22,

23,

24,

25,

rerr'salnIrlgt;nfﬁ?g?‘lhE Prime Minister

(A) Till he/she remains M.P. and the

Seaabdhe; of majority party in Lok

(B) Till the Presid
remal o ent wants him to

EC} Both (B) & (D)
D) Till he enjoys the confidence of
the majority party in Lok Sabha.

HHY 9% T 9T | @

HEA 2 7 _
(A) 1= T 9§ Hee wed (MP) 3t d
B9 1 AEH T o ol Wl R | _
m]zgﬁﬂmﬁzﬁmﬁmnwmm

|
(C) (B3 (D)
(D) 9@ % 34 T a9 § TEHA TA F
fram ym Em @ |
What is the minimum age of a
candidate to contest Gram Panchayat
Election ?

A) 21 Years ;B) 18 Years

C) 25 Years D) None of these
N 9= az% & fou fmdt
Fefieam i =pan 31g frah B =ik 1
(A) 2174 (B) 187

(C) 25ad (D) FH A HE T

“Man is by nature a social animal.”
Who said this ?

(A) Aristotle B) Rousseau
S.C] Maclver D) Spencer
H?E:ﬂ IR 7= TH

AN ATk ol =

(A) AT (8)

(C) TRTER (D) T
Who is the author of ‘Mind, Self and
Society’ ? "

(A) G.Wallas (8) G.H.Mead
(C) Cooley (D) Freud
U5, Aeh U8 TS & TEH DA © 7
(A) Sh. S| (B) h.u=. e
(C) T (D) WS

Who among the following suggested
that society is the real object of
religious venerations ?

Y e, B
urkheim arsons
%mrﬁ%ﬁmﬁgw%aﬁmﬁﬁama
yTiieR IUTET T T e R 7

(A) Fx (B) THETH

(C) g@m (D) wrEH



& Iireed i .'f-ll,'s.(.ri e
G 10 Erhausted
related 1
- ——
r.':} D‘.‘S.'F'r‘.d

. 5 ir;
A TrI0 tay, 2% Sad in thﬁ_l

5] lggres i

fr
-] ntres . - <
Crss vrie- {‘f'c' (D) Erntroven
RN RER w5 w gy g
.'J""- “2rEr ews - 3 _‘ Ve n ’
AL Ereg PL A ‘_‘.;:73’73:‘ ﬂm‘o ﬁ-’ f
(L) Arsrms () A
. > - SLgre
(C) gazh .
- "_:. H ’D} . .
P.’- UGSy im e =
4uetion below are
.- n - Ik A
Staternern. followed gb{-n heo
contlinens, rumpered | 'né twa
have 1o vz 2nd Il. Yoy

; YR INe Yuo given tatements
4 Ge true, eyern f thiey 'H-rn-t y 1

BLUIC. G your ancwer § " the
; # 2niwer from the
given alternatives i

Statermnents - Al horses

-
L

, are dogs,
" Al dogs are mice,
nclusions : (1) 4 horses are mice.

(1) Al mice are
(£) OCniy (1) follows, = are dogs.

rfﬂj :l::j:h':r (1) noar (11) fallows,
-1 25t (1) 2nd (1) follows.
;3, Or 7 (1) follows,
== 572 30 ez fon § frms
= TR, (1) 74 () fom e £ ) s
77 T T F4E E 5 O 2, 9w
g = A W | fe o Faed §
7T T B AR A |
FrvEas . e FTE TRt
iz gz?

e () T FTE R E

rr:iﬂﬁ?%-""’-i'
) FAF (i) FEET AR

j FFM I F ) TR AL

) (1) () T AR EEA R zF

) FA= (1) FEET EAIR

ose the slternztive which most
cely resernbles the mirror-image of
given combination. . _
7 7] 557 34 7 (20 U EATEA 7
i & T S A 2 |

" JUDGEMENT
TNEMEGDUL (2] JUDDIMEMT

PART.g

rN3IMEGQUS (D) TU3M3oQUL

29.

30.

31.

32.

Position of dices is given below :
rra R i dm g d .

hoing
i s s 3 5
. . ~

identify the number when top is 5,
what will be at bottorn 2 y
=7 "ven # TEEE F ™ I3 W5 7,
A 7 W F = He v

(A) 3 (8) 4

(C) 2 (D) B

On 8™ Feb., 2005 it was Tuesday. What
was the day of the week on 27 Feb,,
20047 :

(~) Saturday (B) Friday

(C) Sunday (D) Thursday
g =rai1, 2005 T TAET 41 | 8 FAd,
2L T TAR I A AT EER A 7

(A) TIAT (8) IFAT
(C) TrEaTw (D) AT

4 is B's brother. C is A's mother, Dis
C’s father. B is D’s grand-daughter.
How is B related to F who is A’s son ?
(A) Grandmother (B8) Cousin

(C) Aunt (D) Miece

A BFIYERICAFTITMIZID,CH

frm2 g, DF T2 8, FR FE T
FERARAATIER 7

(A) = (8) FA

(C) == (D) 5=

Trace out the given figure (X)
embedded in one of the given
alternatives.

fmmfaE-nismTEAm TR
famd 71 8 wrEA (x) B=EA R

(X)

(A) (B) )‘jn

(C)

o LS
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ms
33.  Sumit goes first 7 km North, then I'.lni't'% 38
left and moves 10 km, again he T he ©OSW persons P, Q, R, S, T and U are
loft and moves 7 km. How far 1* Standing In a cireular form. U s

from the starting point # standing between S I T. T Is not
S g - et W | . cen S and 1. T is
g weel 7 km 3w A ‘r_rll. F\] u standing adjacent to P. P is standing
| kg 1{:‘:‘“ 10 k"'l i]'\"". m\l i‘ \'lt_n .:..“q- ‘-:q hl\tw‘olln .3 and n. Whn .‘ 'ﬂﬂn[ﬂnr
\ @1 iR 7 km Well | g am wrbih 8 between Tand R 7
- A s g ur @ 7 .
(A) 22 km (8) 10km we sulw p, q, R, s, Taw U s g
(C) 19 km (D) 12 km N ay ® o, s a1 w i
34. In a certain code language ‘PENCIL’ 1S BT, P urs il e B
written as ‘PNEICL’, then how wlll ¥ W i wm b ¢ ‘ P, Saw R
‘MOTHER' be written in that language ? T | T a9l R & word wia
uw Piffya g ww & peNcit @) gty ]
eNEICL fora mn R, @) 3 g i A A L5
(A) Q (
‘MOTHER' fora warmt fovan o ¢
(A) MTOEHR (B) OREMHT (8) S
(C) REHMTO (D) TREOMH € P
35. At the end of a business conference, ) 3 N
the ten people present all shake hands D) Non TR
, with each other once. How many (D) eofthese/ﬂﬂ%ﬁﬁ . i~
: 3-\\\;‘ handshakes will there be altogether ? Q .\. A Q".‘,L' '(Br'i'f)
— 3 . = - g - 4‘ 1
Q?R iéi:i | HE § 3 A 39fRE 10 39. Insert the missing character fr{'-tfle :
; A o3 o 3 g 4 uw 4n 'y s
S following matrix :
: a1 e | 3o e e A e N
3" Prememe 7 L M fem o e 1 o e e S .

: (A) 22 (B) 45 m H
o (C) 54 (D) 88 | X
_,:?_ 36. Select the term that will come next in m

the following series : l\_"‘b/\\

i, e 5 I E S I © 04 (0N (@[ v

11,13, 17, 23, 31, 41, 53,67, 83, (?) « L-.\*

(A] 107 (8) 109 g (A) K (8) L .

(C) 111 (D) 101 ‘%\ © M o 3
37. Which one of the following Venn

diagrams  represents  the .best

relationship between Snake, Lizard, 40, Raman canke 13% i a class of 33

Reptiles ?

o 38 students. There are 5 students below
ﬁng ?a%qﬁﬁ ﬁﬂ%“;‘? ;{ EZ * Saral rankwise. How many students
ARl : are there between Raman and Saral ?
HaY % Tqd 18 ?

33 TET 6 T FHE A WO 139 TWEH W
B ? | W SER 5 OF W@ F 9 R
(A) (B)
T e T o oA 3 R e R ?
D) (A) 11 (8) 17
D
& (C) 14 (D) 13
' A
0421 QU -

'1;5; gp"rk
O
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rwo statements (a) and (b) are given.
they may be either independeny
causes or may be effetts

independent causes. One of the::
statements may be the effect of the
other statement, You are requireq ¢

analyse both an dEpict °
relationship between hese the
statements from the option two
below : S Biven
Statements

(A) (a) is the cause and (b) is jts
effect,

(B) (b) is the cause and (a) is jts
effect.

(C) Both the (a) and (b) are effects of
independent Causes,

(D) None of these

< A (a) Tt (b) feu o E | 3
1 &I H A T B T A

AYHUT F1 Y E T R | I
el 3 @ 9 G vl 3 v &
HaY hI vgEH F R :
TR
(a) Frodam A mawia@R
(b) et 3 s 4 feewm 4 2
(A) (a) 0T 2 T (b) SEHT ST R |
Q mw%mta*?‘m”"ﬂm
i (E)W{bjaﬁﬁﬁwﬁ

r &
(D) A FIE T

4q2.

43,

44,

No one was born in between ¢ and A:
Two persons were born in between
and R, T was born before Q,

How many persons were b
between A and Qr i

(A) Four (B) Two

"mm;ma%%ﬁgw
A1 T 99 Q & 9zl garm o |

Amna?mmﬁmﬁwfa‘aﬁwm
BN o7 ? )

(A) IW (B)

(C) s (D) = TEi

Select the combination of letters that
when sequentially placed In the gaps
of the given letter series will complete
the series.

3 aﬂﬁ%mmmuﬁﬁlmﬂ
T &R e % @reh R s =
AT I ¢, T e A e E |
_Cdbd] cacdb-a_ab_b

(A) badcdc (B) cadach

(C) aabdcd (D) cbabdb

Which one of the following figqres
represents the relation among 'Shirts,
Bedsheets and Towels' ?

Frer 3 i A s e ’
aéa'%m%zgﬁmﬁm 27

@] @

(C) OOO o) Cg

0421



45,

46.

0421

Avinash left home for the bus Stop 15
minutes earlier than usual. It takes 3q
minutes to reach the stop. He reachegy
the stop at 8.40 a.m. What time does ha
usually leave home for the bus stop ?

A | wg-w2i % foru qmwea A 15
e Teet R Tre | 3@ @ wg= R
10 f57z & | 9% 8.40 am, 1 9H-RNg
T HE | SR ARG a6 - & R

form T msem R 2

(A) 8.55p.m. (B) 8.45p.m.

(C) 8.45a,m. (D) 8.55a.m.
Match List - | (Police Ranges of
Haryana) with List — || (Districts) and

choose the correct answer from the .

codes given below the lists -
Pﬁr‘-lf‘dftuwnﬁgﬁ-mh)a?lqeﬁ-n
(fet) % o wafem =t @ gfwd &

A R 52 % s woEd IwoS
List=1/ List—11/
et -1 gt -1l
a. Ambala/ 1. Kaithal/
37T FHue
b. Hisar/ 2. Rewari/
femm e
c. Karnal/ 3. Sonipat/
HETA i)
d. South Range/ 4. Yamunanagar/
HELIRE] IR
5. Hansi/
il
Codes /< :
a b ¢ d
(A) 5 1 3
B 2 3 4 1
a4 5 1 2
B)'s 4 2.1

"

i

47,

48.

49,

50.

(A) Yogeshwar Dutt (B) Pawan Kumar

(ICS] Sardar Singh (D) Vijender Singh
T, 2021 = gy :

. Ifem & fim

Which of the following is highest
Indian Police Service Officer Rank ?

= 1 & 2 v=rm v gfm dan
Ffuwiive @ 7
(A) SI

(C) DGP

(B) DsP
(D) ASI
In which Schedule of Criminal

Procedure Code, 1973, classification of
offences is given ?

(A) Schedule | {B) Schedulell
(C) Both(A)&(B) (D) None of these

T wiwan |fgar, 1973 6 e st
T Fgst @1 Fiffee fem a2
(A) | (B) 3T I
(C) (A) 3R (B) T (D) T & T T&

Which Section of the Information
Technology Act, 2000 related to
hacking with computer system ?

(A) Section 66 (B) Section 65
(C) Section 67 (D) None of these
gE Wt arfufrm, 2000 H B8R
N um Fw fewm f W A
Fafm R 7
(A) 81T 66

(C) amu 67

(B) WU 65
(D) 378 | g TE

A.



51.

52,

53.

54.

PART.c
0.009x0.036x 0.016x0.08 5 ¢
0.002x0.00 = S. An amount of T 45000 become
(A) 36 08x0.0002 ¥ 77,400 on Simple Interest in 8 years,
© 33 (B) 37 What is the rate of interest per year ?
(D) 41 8 =l 3 T T T 45,000 FRT B W
L-C.M.of—z-,i'_s._is— . 277,400 § Sl | wfe = = ) o
3'9'g \o 2554 fererefi 2 7
245 T T T 3 % QK () 9% (B) 9%%
3'9'% 2 ANCh (C) 7%% (D) 8%
a) 20 20
- (B) = Q‘.‘JE. If 8 men or 12 boys can do a piece of
5 3 34"1. 3 work in 16 days, the number of days
(c) E-E (D) 31 required to complete the work by 20
20 men and 6 boys is :
The body weight of six bo s i > %’é{/m) 51 days (B) 3l days
recorded as follows - R S 3 6
42 kg, 72 ot R 1
Wha? i t:g- 85 kg, 64 kg, 54 kg, 73 kg 1-0(C) 7= days o) a2 days
5 the average body weight of all B! 2 6 3

the six boys in gm ? ,;_.gc*‘ ot 8 T8 T 12 ¥ W % v e
ﬁﬂzﬁmmwﬁqqmﬁ % 16 =i | W= 4, A 20 T

foran 363331‘7";':1313;11.&351@1*&%%@
42 kg, 72 kg, 85 kg, 64 kg, 54 kg, 73 kg b ETHWT fecit <t wem @

Wl T Tehi H1 3fEa iR 9w gm ) s R @) 31

7 fera 8 2 s 1 6

2
(A) 60700gm  (B) 63500gm © 72 fa o) a3 fam

(C) 63450gm (D) 65000 gm
57. A train is moving at a speed of

The ratio of milk and water in 55 litre 132 km/hr. If the length of the train is
of adulterated milk is 7 : 4. How much 110 metres, how long will it take to
water must be added to make the cross a rallway platform 165 metres
mixture’s ratio7:6 ? long ?

(A) 10 litre (B) 6 litre (A) 5.5 secs (B) 7.5secs

(C) 12 litre (D) 22litre (C) 6.5 secs (D) 9.5 secs
firerae ot gu % 55 foret § g @ T A 132 km/hir AT A =@ W@ R |
I} 1 HATE 7 ¢ 4 R | Frsw o argem afe 33 A @ 110 A A, W I 165
7 : 6 T F fu fopaan it it fiemn - (o Hiet @ T 1od ©eHid H IR FA |
g3 ? oA e

: sy | A .
(A) 10fae . (A) 5.5 EETE (B) 7.5 T
(c) 12fa (D) 9.5HHTS
0421
SN

58.

59.

60.



58.

59.

1 60.

j

61.

0421

A interval of 3 hours 40 minuteés is
wrongly estimated as 3 hours 45.5
minutes. The error percentage is :

3 12 40 fiFE 1 T U 3 W 45.5
Rz % AN T e ST g3 @ | A
w wfawa R :
(A) 1.5%
(C) 3.5%

(B) 4.5%
(D) 2.5%

What is the total number of natural
numbers upto 9,999 ?

9,099 T VAU WG| Hh Fel HEAT
frafi 8 7
(A) 90,999
(C) 9,999

(8) 10,999
(D) 99,999

In how many different ways can the

letters of the word ‘RUMOUR' be

arranged ?

fra firer @fe ¥ ‘RUMOUR’ g &
et 1 sgarea g I w7

(8) 99

(D) 180

(A) 520
(C) 34

island of Crete, which was seen in the
news recently, is situated in which
country ?
(A) France (8) Germany
(C) Greece (D) Cuba
e 1 2y, S Fe € A wwEn A

fratnifRag ?
(A) T8
(c) =

62,

63.

Emergency Credit Line Guarantee

Scheme (ECLGS) is associated with
which Ministry ?

(A) Ministry of

Information and
Broadcasting
(B) Ministry of Finance
(C) Ministry of Commerce and

Industry
(D) Ministry of Textiles
AR T@ @ T A
(ECLGS) Fra maem 3 g8t gé 2 7
(A) T TE FER HAeE
(8) fam warem
(C) aftrsa Td Je wETed
(D) U HATCHE

Nimaben Acharya has become the first
woman Speaker of which State
Assembly ?

(A) Gujarat (B) Haryana

(C) Maharashtra (D) Mizoram
Frma s fea T < faaE T R
e Tfgen e & ?

(A) TRTA (8) ER@mm

(C) WEmg (p) fism

Who launched a grand challenge
programme called “SIHCARE” on
September 28, 2021 ?

(A) Dr. litendra Singh

(B) Jyotiraditya Scindia

(C) Nirmala Sitharaman

(D) Smriti Irani

28 faamm, 2021 ® @ AT Ao

S, “SACARE” e & foRan 7
" (A) €. e e

(8) sfeafesy fafern
(C) Trien daroo
(0) =i $eet




65.

66.

67.

On 7" June, 2021

, » Govern
approves extension of Pradhan Mr::tm
Garib Kalyan Anna Yojana (F'h.’l-GI(M’rI
from July, 2021 upto )'

(A) October, 2021

(B) November, 2021

(C) December, 2021

(D) None of these

7 SE, 2021 H TEHR A TUEEH "
FHET 3 A1 (PM-GKAY) i s
2021 & % fawnhe & iﬁ;
FfadiR

(A) Iragaw, 2021 (B) wawaw, 2021
(c) Temmaw, 2021 (D) T & = &

Which country has successfully test-
fired a newly developed hypersonic
missile - Hwasong-8 ?

(A) India (B) North Korea
(C) EJSA (D) South Korea
g T I ARedIgE® T A et
FTEqCETT fhaTge — SrET-8 1 e
foman 7

(A) T (B) IT I

(C) F.TE.T (D) aféror shifen

The Ministry of Corporate Affairs
(MCA) has extended the tenure of the
Company Law Committee till

(A) September 16, 2022

(B) June 15, 2023

(C) September 16, 2025

(D) None of these

frrfa (FTaRe) WEE & FEACH El
et i ey <6 arafty i wr e @
(A) 16 =R, 20227

(B) 153, 2023TH

(c) 16 faam, 2025TH
(D) ¥ AHE T

10

68.

69.

which of the following s incorrect
about recent bank mergers ?

(A) Dena Bank and Vijaya Bank were
merged with gank of Baroda.
Oriental Bank of Commerce and
United Bank of India were merged
with Punjab National Bank.
Syndicate Bank was merged with

Indian Bank. ‘
Andhra Bank and Corporation Bank

were merged with Union Bank of
India. .
m%ﬁ%ﬁm%ﬁa\fﬁﬁqqa
FREFEAR 7
(A) éméasamﬁw&aaﬁﬁmém
i =a2ign & AU A | )
(B) Siifze 3 3% wiAd ad1 LH1CS
#x orw 3fredm & fqera o9E
v A o ard g3 | )
(C) fﬁfgﬁﬁﬁﬁmﬁiﬂﬂsﬁ@?‘éﬁﬁ
Ty BT |
aﬁu%mamﬁmﬁmmﬁﬁﬂ
gfra e 31T SOSd H HU R |
The high rate of inflation from May,

2021 to July, 2021 as compared the
corresponding months of the previous

year is primarily due to

Frod 31 % o6 WEA @ ge A T,
2021 & Femd, 2021 i H
I U WU TR

1. low base effect

s amum wITE

2. rise in prices of mineral oils viz.
petrol, diesel (HSD)
I 3 W, TFA (HSD)

= el 8

3. increase in demand of Iindian
softwares. -

T B i v A 9

rise in prices of manufactured
products  like basic metal,
chemical products etc.

T uTg, TETER I 3 59
fyfifa Seac) & el 3 91
Which of the above are correct ?
TG H BB TAR ?
(A) 1,2,3 (B) 1,2,4
(€) 2,34 (D) 2,3

(8)

(C)
(D)

(D)

0421
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71.

72.
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70.

71.

121

At present, who is the secretary”

General of UNO ?
(A) Antonio Guterres
(B) paul R. Milgrom

(C) Robert B. Wilson
(D) None of these

aiam 1, uwomnmfaﬁﬁﬂ%?
) TR T

(8) et AN
() vad . faw
() T AP

Financial Assistance to Non-School
Going Disabled Children (less than 18
ears) is the Financial Assistance

scheme of which Department of State
Government of Haryana ?

(A) Finance
(8) Women and Child Development
(C) Social Justice and Empowerment

(D) Health and Family Welfare

frereg 7@ WA A e areTl Bl
Frefr wgra (18 @9 & W 1Y), EREwn
T TR % fone ferm < ferera wEmal
qe 8 7

(A) fom
(B) e qu aTet ferhrd
(C) wmITE =ma a1 S
(D) T@TEA TE YiEm HedTl

India American Executive Indra Nooyi
was the former Chairperson of which

company ?

(A) Amazon (B) Pepsico

(C) CocaCola (D) AlIO

ﬂﬂ?ﬁ’-l ot 1 FAFhH FRA $51 T
fipm ot ) qd aremy (SravaEq) of 7
(A) 3THH (B) !

(C) @IFI-HIe (D) faar
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74.

75.

Who sworn in as New Gove
Haryana State ? fnor of

(A) Bandaru Dattatreya
(B) Anandiben Patel

(C) satyadev Narayan Arya

(D) None of these

gigmn T4 ¥ 78 USATE % iR w
fopgry wqy <f1 7

(A) TR G

(B) SR 1T

(C) weadd AT 3T

(D) T & HI3 TG

p — 2021 Is

Indian Premier Leagu
hich of the

currently organised in W

following country ?
(8) Jordan

(A) Oman
(D) UAE

(C) England
<foeam ifga <m-2021, & if=d
3 fipg 20 1 Frrifem fohan T 7

(A) M
(C) Fis

In Haryana, Lokayukta Portal was
launched in the year

(A) 2020

(B) 2019

(C) 2021

(D) None of these

st chorges i i i
7

(A) 2020

(B) 2019

(C) 2021

(D) 374 A 1S 7



76.

77.

78.

79,

PART.p

Which of the following is a function of

Carburettor ? )
(A) It mixes air with petrol to give

cool vapour.
(B) It controls fire.
(C) It keeps engine cool.
(D) It controls the current.

e 1 @ 1 =1 T U R R 7

(A) ag avd) arw 3 & forn g @ e
& ary fufm s R |

(B) @E e i a2

(C) a8 §94 %! 3e1 @A 2 |

(D) =& ur = fifia a2 |

Tungsten is used for making filament
of electric bulbs because of its
(A) Low thermal conductivity
(B) High electrical conductivity
(C) High melting point

fg%al.ow_gost
w-c—méafﬁw-rrﬂz%:ﬁw’imﬁém
S €l @ ifeh

(A) IHH AT ArereRd = BT R |
(B) I9hi Taega wrereren 3= B 2 |
(C) & TeHTF SHBATR |

(D) IEH AT HTE |

Iron has the electronic configuration ;
BUEIESCIECRC o

(A) 3d3as! (B) 3d®4s2

(C) 3d'%4s! (D) 3d34s?

Temporary hardness of water is due to
the presence of

(A) Bicarbonates of Calcium and
Magnesium

(B) Chlorides of Calcium and
Magnesium

(C) Sulphates of Calcium and Sodium

(D) Hydroxides of Calcium and
Sodium

S 0 HEYR FIRAT B FA IEHT

TR 2 .

(A) Hfceem wen fafam & areEte
(B) feaam qon At & Feinrsed
(C) Hfeway wen wifsam & wedhey

(D) Hicsrm e wifeam % eI
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B1.

82.

83,

sex
mosomes other  than
I-“.‘:'nrlc::ilﬂmes are called —
hm{:entromere (B) Cene s
Autosomes (D) Non e
1"?11 i % areran 314
A ol thri d
Ec; ;H (D) s:rﬁf—rfméqﬁ?
Which of the following is an amphibian
(A) Cow B) Fr?-ugale
(C) Deer (D) %m{?
T B FH T T PAALE
(A) T (B) W&
(c) feam (D) =<
Plants that grow in Saline Water are
called

(B) Thallophytes

(A) Mesophytes (D) Hydrophytes

C) Halophytes
(Fﬁ)tﬂﬁﬂ;?;{:ﬁ?ﬁma wmﬁimﬂa"ﬁﬂ% !
(A) HEwEEE  (B) ASTREH

(C) ReATwIEZA (D) ETEESTHIETH

Which of the following is useful in

gene cloning ?
(A) Plasmids
(C) Lomasomes

(B) Nucleoids
(D) Mesosomes

AT A A S @ S AT IwEnf £ 7
(A) wenfeTgH (B) =gfeeiarisgm
(C) <ArmTEg (D) HiEmErs

The main objective of the Kyoto

protocol on climate change -

(A) Binding obligation on
industrialised countries to reduce
emissions of Green House gases.

(B) Obligation to trade between
signing Nations.

(C) Mandatory to take care of flora &
fauna.

(D) Binding to reduce noise pollution.

Fearg IR W i H1
e .

(A) 3iteifiega 3ot A -1 it
amﬁqwﬁ#%qmml
(B) TN UET % He SATqR e e |
(C) ey w& it i e@vrer tfar =@ |
(D) & wguw Ter 1 ey T |
0421



85.

86.

87.

ua,

Uan

The organisims which feed on dead
grganisms  and  excreta  of  living
arganisms are Known as

(B) Decomposers
(C) Producers (D) Consumers
ag ekt ga sl qen faq sHal & va
i it aeen B, S e R

(A) Carnivorous

(A) s (B) 3
(C) Feamen (D) I
The addition of excess soluble

phosphatic fertilizers to soil may affect

plant growth by

(A) Inhibiting the growth of micro-
organisms.

(B) Precipitating iron and aluminium

(C) Reducing the availability of zinc

(D) Reducing the availability of calcium

wel v sieatas, el Wik dve

fnrﬁjii A an mze gfa @ ogmw gm

WNEd F1 Hepdl 7

(A) HEs-sfiamsn ) 4la &) e

(B) @it 4w veainiaay @1 sasyw w

(€) Faren it 3usrearm @) gemam

(D) “wfeean & susread #) u2iE

Soll high in swelling clays which Q@H:
widely  upon  drying  resulting  in
shrinking, shearing and  soil  mass
movemants are characteristic of ;

(A) Utisols (8) Entisols

(C} Podzols (D) Vertisols
I e 8 3 a6 g W
2z (wz) @l P Pk afommeeey
fames, srrew qur ga =wE g
R R, gaaht enarivaran g

() AfzsEn (8) ufreiE

(C) rEeR (D) @i

The Insecticides Act was passed by
Parliament In the year @

e g hrzah sifufves an

3 e fan mran |
(A) 1973

(C) 1568

(B) 1965
(D) 1972

Downloaded from www.cclchapter.com

13

89.

90.
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93,

Which one of the following is

indigenous breed of cattle ?

(A) Sahiwal

(C) Jersey (D) Red Dane

= 11 3 st i w@eh « 2era wanfa @

(A) AifeETer (8) B yeefer

(C) =i (D) 1= 23

Which one of the following fiational

institutions located in Hisar, Haryana ?

(A) Central Institute for Research on
Cattle

(B8) National Institute of
Nutrition and Physiology

(C) Central Institute for Research on

Buffaloes
(D) Central Sheep and Wool Research

ins.titu‘te )
fror # 8 =9 71 v g g=a fean,
afmn o safzm g 2
(A) T qEsfl STHETE HETE
(B) T ws] iy e 2l arem
[g}. FAA A IEYT HRIE
O) FEI UT AY T WA AT

Which of the following devices stores
Instructions that help the computer

Animal

start up?
(A) Joystick (B) RAM
(C) ROM (D) Monitor

= o @ wla @ feama 39 sest @

TE T B, A G S E A A
HRIAA & B 7

(A) Fiu-iw (B) RAM
(C) ROM (D) Tt

]’he speed of Laser printer is measured
in .

e =1 T W nfa mrdt i 2

(A) cps (B) ppm

(C) dpi (D) hrs

What Is smallest unit of the information
accessed from a Hard disk ?

(A) A bit (B) A byte
(C) A:’zec_mr (D) A Track
r.rq:mméqaﬁaéﬁmﬁm#i

HEFHI ) 7an o S oA A
] ) 78 O g e 4

(AJ ‘“T;fa? B UF &
(C) v fam 8) o e

(D) & gw

(B) Haolstein Friesin

A‘J

(A




4 2007, which tab contains cut,
94. In Office 2007, which button Is attached in Wer

to a ribbon and identified 98- _and paste ?
containing an Office logo Insidb:iza? o cuvadu {B) Home
(A) Design button (B) Office button (A rt (D) Design
(C) File button (D) Insert button () Inse frm ¥
ATHE-2007 #, ® 71 723 v fam & a$-2007 H, =, w T
HIY FF A B AU UH Hebe o BT 7
safffga s\ &M (logo) zm e -
TEET TR 7 () e (8)
(A) fesmsr e (B) T Tew (€) ¥ (0) feomen
(C) wTsa WA (D) ¥ A
95. The hypertext documents are g9, Soclal media are Interactive
supported by the web using special applications
protocol called . —_— :
sTagiign < wfve (fafime) (A) Web server
WiEthTet 3 I94N & |y 39 g gufda (B) HTML
B 8, HEeAral @ ; \
(A) FTP (B) HTTP (C) Web 2.0 Internet-based \
A Is a computer that stores HIvTR Hifea A= u\q.ﬁq;m“
and forwards e-mail messages. —— '
(A) Mail server 21
(B) Mall system
(C) Mail center (A) 99 TR Y
(D) e-mail software
on o8 (B) HTML
U HEgR R W -0 e
%) TR T S FAT R | (C) ¥a 2.0 FTHC-ATHIA
(A) e HAT (B) I fereem (D) Www
(C) ¥ A= (D) 3- WiwaH

Point 2007, which of the
comprises a broad range of 100. In Power

financial services accessed and following tabs is used for adding /
ﬁ?{:g;ﬁg ;:;;uegnﬁs dif:;zlit’c};:';?nﬂ:: deleting / editing slides, choosing slide
remittances and insurance. layout, and selecting / changing fonts?
A) Digital fax services \
El’:l]J Digital financial services (A) Design tab (B) Inserttab
(C) Digital face services (C) EditTab (D) Home tab
(D) Diagor;;fface ser\éi;:: N 3 SRz 2007 &, TR/ fechin /o
g aana & Y @ fafed Hi WEEH, W98 A-3&He F T4 T
Wma'”lglgg'l”“? ) iR, FieH @ 999 /aeeE & foe frm & @
e, o7 3R & i e |
(A) fesfieet ham mfe S Y ¢4 H1 I B R 7
(B) fesfieet wrgAfirae wfdda (A) feosa 2a (8) T
(c) fesfizer Fu wfast
(D) STETE He afeds () usezea (D) EMeE
14 0421
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